Tradestation code for the new Relative Volatility Index(RVI)
RVIH

Value1=@STDDEV(H,10);

if currentbar=13 then begin

for value0=0 to 13 begin

if h[value0]>h[value0+1] then value10=value10+value1[value0];

if h[value0]<h[value0+1] then value11=value11+value1[value0];

end;

end;

if currentbar>13 then begin

if h>h[1] then value 10=(13*value10[1]+value1)/14 else value10=13*value10[1]/14;

if h<h[1] then value 11=(13*value11[1]+value1)/14 else value11=13*value11[1]/14;

end;

If @currentbar>13 then rvih=100*(value10)/(value10+value11);

RVIL

value1=@stddev(l,10);

if currentbar=13 then begin

for value0=0 to 13 begin

if l[value0]>l[value0+1] then value10=value10+value1[value0];

if l[value0]<l[value0+1] then value11=value11+value1[value0];

end;

end;

if currentbar>13 then begin
ifl>l[1] then value10=(13*value10[1]+value1)/14 else value10=13*value10[1]/14;

ifl<l[1] then value11=(13*value11[1]+value1)/14 else value11=13*value11[1]/14;

end;
if @currentbar>13 then RVIL=100*(value10)/(value10+value11);

inertia

if @currentbar<33 then inertia=50 else inertia=average((rvih+rvil)/2,20);

{

or a slightly better formula is:

if @currentbar<33 then inertia=50else inertia=linearregvalue((rvih+rvil)/2,20,10);

}

